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By a tree that is — @O277 MWD STV I TIOT NI TR T9IN2
standing in a v''711 and its branch extends into the 2''719.

OVERVIEW

70" 27 answered X7 °27 "1 X7, who maintains that a '7 2p» is not required, as we
see from the Xn>92 of 2711 °27 RW 95 11 A"v 1N par. The R na refutes this answer
because 27 may agree that a '7T 2pn is always required, and the reason "7
maintains that he is 2>, is because this is a special situation where the 12°X is *"7772
3"777% 7131 19, and °27 maintains the concept of 1Y Tn2 101 7w, while the oon
do not. maon offers different explanations as to what 1311911 >7w accomplishes and
why it was necessary to establish the n,>mn in a case where the 72°X was *"7772 and
21777 70N .

mooIN anticipates a difficulty:
— IPIND I8N TN PNYHIVA NI
In our discussion here (regarding 7117 77°PY on a '7 OpPh), we would have been
able to say that the Xn>12 of X¥W 92 11 2"y 11 P77 is discussing the case of -
— 7199P5¥2 U NN MY INP 1919 19999 19DV 199N
A tree that both the trunk and the branches were entirely in the >''79 and the
trunk is o°nov "7 %Y oonvY T -
— 71 ©IPNI NPYN 1IPOY N2 191 7Y 920 294
Where 29 maintains that we cast the branch after its trunk and the branch is

considered as if it were a '7 2P, just as the trunk is a '7 03P, and therefore he is 27n,
because (he was °"771% 1" 277 and) there was a '7 20 'Y 737 -
=77 DYP1I NN RIYIIPIY 92 1913 2TV 139X NY 9930 13299

And the 3229 maintain that we do not say 1> 902 1911 7w, so the branch is not

considered as a 'T @y», and therefore he is Mws. This would be a valid refutation to the
answer of 701’ 27 that X°77 %27 %1 K.

Moo responds to an anticipated question; we find later' that X701 27 maintains that in a >"71 we
do not require a "7 2P A"Y 7117, why is 1911 >7W necessary to for a "7 2pn -

— 71 DY 71 0PN 1YY PHYNY NI 93 TINN MY

For our X723 maintains that a place of '7 ¥ '7 is required even in a v''777 for
anIm 77°pPY; we can prove this -

2,7,
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— PHY MY NN XA ITAY IPOV 5N *noa Zanxm
since later the X712 will say that our 71wn should be read as if it said that it was
placed or taken from the basket (which was "7 %¥ '7) which was in his hand,
thereby explaining how there was '7 23pn 23 S¥n anam 7Py, to which the XA
there responds, this explanation of the basket is valid only when the basket is in

the °''11M, so we have a '7 01pn, however when it is in the 7"777 there will be difficulties (see the
X3 there). -

— YA9N DIPN SNIYNRD 1399979 993 NN MVYIIT YNHYUnN
It can be inferred from the X 3 of 9070 that concerning a >''777 we are also

requiring that there be a ' 2%, Therefore regarding our discussion of '7 2pn 3"y M7 it
is not necessary to say that the branch extended from the °"77 to the 7"77, which is a more
complicated situation (and it also requires that 121 >7w confers upon the branch a change of mw),
when the X773 could have said that the entire tree was in the >"77, which also requires a "7 D1Pn.
Therefore according to "27 the branch has the status of a '7 01pn because of the principle 1911 7w
17°Y N3, and according to the 1127 he is MWy, because the branch is not a "7 03P» since they do
not agree to 121 >7w. Why then did not the X n3 refute 701° 27 in this simpler fashion?

mooIn explains:

— NTON 297 RNYNN *PP992 91N ANT XNYINT DIYM NN ONN2 VP NIN
However the reason why 21X said it in such a manner, namely 1"772 191 >"7112 1Py
is because this statement of %°a8 was originally taught later in our P92 in
conjunction with the statement of X781 29 (it was not said in conjunction of trying to
disprove s'f01° 27 position that X7 727 711 X7) -

— 250 NNRN NN N2 IT2AN 122) DY NI P NN NIYI NP NI 9INY

Who said: if one stuck a pole in a *'';1% and someone threw an object from the

71"77, and it landed on top of the pole, which is not a '7 op»; even if the pole is one

hundred nK high, and it extends above the mx°n» of the °"77, nevertheless he is
29977 -

— 93495 9NT NTON 29 N1IYY 79999

and the X713 there asks do you mean to say that X701 39 agrees with 539, who
ruled in the case of w"> 171 3"y N1 71, that he is 211 even though there was no "7 23pn A"y 1AM,

* Seemingly moown could have proven that our X310 requires a "7 01p» from the immediate X»3 which states [3°n;
7pn 2"02 (that it does not require a '7 O1Pn), indicating that a >"77 which is not 77p» requires a "7 opn. However
from there we can only derive that a nm7 0pn is required but not necessarily a '7 21pn, but from the ruling of po7v it
is evident that a '7 0pn is required (otherwise why is 9po7v different than 177).
3x.m.
fxm-an
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and X70m 27 agrees with °27 and not with the o', how can that be?!

— NTON 2995 )99 KD Niaby 9915 190N HIYI2T %YM
And X answers there, that when the object lands in a °'719, there is no
argument, and everyone agrees with X701 29 that a '7 0p» is not required for a AT
>"17192. Nevertheless the 0°22rm maintain that if 7109 w"2 17 3"y 111 277, because -

— 71999532 1PN 192N 2999139 97709Y 1199 1993) 7192 MY 1PINA NI
here the case of w"> 1°1 A"¥ 1 P77, is when the tree was standing in the >''779 and
its branch extended into the 2''779; and the situation may be even when the
trunk does not have a 't 211, since we are following the ruling of X701 27 who does not
require a ¥">72 "7 0Wpnina "IN -

— 290 TN NIYID RNNTIIPY 992 199) »TVY 920 9%
27 maintains the principle of 9% 2n2a 2931 > which makes us consider as if
the branch is in a "', and therefore he is 29977 -
— NTON 2979 71 0PN M1 KYT2) Y 9N
Even though neither the branch nor the trunk are a 't 23pn, nevertheless he is
211, according to XTO 29, who maintains that in a '7 23 1°¥2 X2 >"m)
— 9P 912199 YTV KD 9320 AN
And the 3129 maintain that we do not say Y9?°» 902 193 ST, and since the branch is
in a 7"77 he is Mo (for there is no 77377 on a "7 0P» [and he did not throw it 9"7172 Nk '7]).

In Summation: In the original statement of 2K, where he was explaining that everyone can agree
with X701 27, that a °"777 does not require a '7 01, then the concept of 121 >7w accomplishes that
the branch in 7"77 is considered as if it is in a *"77. We could not have said that the entire tree
was in the "7, for then according to X701 27, everyone would agree that he is 2>°11. In our X3,
however we are not following the ruling of &7017 27, and we require a '7 2)Pn, even in a °"77, and
therefore we could have said that the Xn»92 is discussing a tree which is entirely in a >"77, and
21 »7w will accomplish that the branch is considered a '7 2ypn. However, since *aX has already
interpreted the ¥n>12 that 7"772 191 °"772 1Py, we go along with that interpretation, with one
difference, that regarding the refutation of 701" 27, the 121 *7w will accomplish two things; a) that
the branch is in the >"7717 (like »2R), and also, b) that we consider the branch to be a '7 2.

nvoIn asks:
2799993 Y D390 NIV 1D I8N 1DIN 19PD AN 1IWN RY INNN NYP JaN

However there still is a difficulty, why doesn’t »ax answer later,” when the X113
asked how is it that X701 27 agrees with 27 who doesn’t require a "7 0)p» and not

X,
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with the 7127; 2K should have answered that the case of w"> 11 3"V 1) 277 is when
the tree is entirely in the 2''719, and the trunk has a '7 2371 and he threw the object 7

7"772 DK -
=77 21PN 2PYUNI 7129199 TV 929 1599

Where °29 maintains the principle of 123 72 etc., and therefore the branch is
considered as if it had a 'T 27" and therefore he is 21, for being a 7"772 MR '7 P77 -

— 579 @YDN 1 RY 19299
While according to the 3129, who disagree with the principle of 17y 902 1911 "7V,
there is no '? 217» and therefore he is Mwo.

mooIn responds to an anticipated question. Perhaps the reason *aX did not choose this latter
interpretation, is because we are accepting s'X7017 27 view, that a '7 03P is not required [even in a
7"77]. mMdoIN explains that this is not so —

— 7% 9YP1 1)°¥aT RTON 29 AN 02290 MY
For in a 9''/1 even X701 29 admits that a '7 21p» is required —
— WINPT 1DY YPUNTI RTON 29 MNP RINT NN MYIaT
For X7om 29 said his 777 (that a '7 2p» is not required), specifically only in a '3
as is indicated in the X773 later, where the X713 says -
— NTON 2975 "9 NI R1IYY Y510 NN MY

That in a >''711 all agree with X701 29 that a '7 0pn is not required, which indicates that 27
X701 is ruling only in a >"77. The question then remains why did not »2X explain that the case of
"2 o1 A"V 111 P77 is when the entire tree with the branch were in a 7"777 and the npYonn is whether
we say 17P°¥ N2 1911 7w to accord the branch the status of a '7 DpPn.

Nv0IN answers:
— SNy 28 XY ©390 MYHAT Y YN
And one can say; that we are unable to establish this % in a case, where the
entire tree was in a %'/ -
— NN NNDMU NYINDIT /T XIDT 2) UY 4N 1329 9909 1 KDY /M1 NVNY 9991 N1
for if the branch was within three o°mdv of the ground of the 7"77, the 1129

® The advantage of this interpretation is that we do not have to qualify this case that the branch and the trunk are in
two separate NM™Mw7 which is unusual, but rather they are in one N, namely a 1"77 which is more likely. In
addition, this interpretation of 131 1911 >7% would accomplish (not like the previous interpretation that it makes the
branch, which is in the 7"77, into a »"71 like the trunk, but rather) that it accords the branch the status of a "7 0pn just
like the trunk, which may be more readily acceptable than changing its M~ status from a 7"77 to a *"77. See
‘Thinking it over’ # 3.
TR,
¥ See “Thinking it over’ # 1 & # 4.
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would have never said that he is 91p, even though the branch is not a 't opn
because anything within three 21ov of the floor of the 3"77 is considered an

extension of the ground, and it is a 7"77, and it surely is a "7 21pn, and he would be 21
¥"13%. Therefore the branch cannot be lower than three 2°rov -

— Pyaax an19 BX 800 TN9N997 529 29501 7N NY 731 NYYNY N

And if the branch is three o115y or higher from the ground, then 539 would not

maintain that he is 21, for if the branch is wide four o°’rov by four o°nov it is a
Upsonns -

—772N99°N ONX V9 0PN IN

And if it is not '7 5y '7 then it is a wp 2", Therefore in either case he is not 27,

since it did not land in a 71"77. We cannot therefore say that the entire tree is in a 7"77 and we

also cannot say that the entire tree is in a *"177 according to X701 217; the only choice remaining to

MR is to say 1"77? 7V DM "2 TR 12°R2 and he is 217 according to *27 for °"77% 2" P
since 1Y N2 1911 7Y (which accomplishes that the 91 is a °"77).

mooIn offers an alternate view:
— 9199117 1Y HNOWM ) DA9N MHWYHIT AN DNYAN )3 PYNY 132399
The X''2w9 however maintains that even if the entire tree and branch are in a
9''719 we can also apply the principle of —
— Y959 1121993 STV

Cast the branch after the tree, However, not to consider it a '7 2pn, but rather to consider

it a 7"77; and we can overcome the objections stated above -
— £%290 MY 911 1YY PDanam 0399 /0 113X IN AYHYN MND IPIYVY M0

For instance, if the trunk is lower than three o150 from the floor of the 1"117, or

that the trunk is nine 2°m9v above the floor of the 7"77, and the people adjust

their burdens on it this would make the trunk a =2''579 in both abovementioned cases -
— 731 1YY NIV IO

And the branch extends above three 0’150 from the ground. Now, by itself, the branch
will be a M5 DpPn, nevertheless -

’ Any item in a 7"77 which is higher than three 2°mdv and lower than ten 2°nov and is 7"¥7 is considered a n*om7>.
There is no nxwn 21’1 for carrying from a 2"737 or "77 into a N°2173 (and vice versa); only an MoK 112777 If it does
not have 7"¥7 then it is a 71 01 and one may carry from a 7"777 or "7 into a 7wd QPA.
' When mooin says ¥27X 2r1 OX or ¥2IX M0 WK DX he is not referring to the a1 per se (since we already
established that the 711 is not '7 and the reason why he is 271 is because 17y 702 1911 *7w which is '7), but rather that
however we view the 711 (on account of the 1211911 >7w), there can be no 211.
' See “Thinking it over’ # la
"2 See “Thinking it over’ # 1b
1 See 121 X9 MK X,7 X2 A post which is nine 2'nov high is considered a 1"77 if 19y o0 o721
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— 9P N2 DD 192TYT D290 MV 99 M 23907
According to 529, the branch will be considered a 2''71% because we accord it the
status of its trunk, even though we are changing the status of its N from a 75 01P» to a
1"77, nevertheless we may do this -

— PN MY RNYD 1P 9N 19D 19977 2390 »5
In the same way that we said according to »2X that Y92°» 903 1211 72 will confer

upon the branch the status of a 5''519, so too, we can equally say that the principle of T
191 can confer the status of a 7"737 to a MWD PN

— ©%390 MY "N KD 1399

And according to the 3139 the branch will not be like a 2''719, but rather a 1o 2P,
since we do not say "7, it retains its original status, and therefore he is 75.

It is evident that »aX could have interpreted the nP2m» in a 1"77; not as MooN previously
suggested, that it would be impossible to have their n1%mn in a 21"77 -

— 991 MAN 799 P9I NI4T N

And the reason why »ax did not interpret the n?17r» in this manner is —
— NIV INNYT 02290 MY 0) 77 DIPN YA XY NTON 297 DIVN
Because X701 231 does not require a 7737 on a '7 21P% even in a ''719; for there is
no difference between a >"71 and a 1"777 in regards to nm3n. If there is no requirement for a
"7 0Pn in one MW the same rule will apply to the other. Therefore since a "7 21pn is not required

in a 1" as well, »aX cannot say that the npY?n is in a 7"77, for both *27 and the 1127 agree,
according to X707 27, that even in a 7"77 a '7 1P 1S not required14.

mooINn responds to an anticipated question: How can we say that X701 27 maintains that even in a
7" a '7 0pn is not required, when: a) why did X701 27 say his 17 only in a >"77, when it applies
equally to a 1"777, and b) why does the X 13 say later (R,i1 77) that X701 2775 *3°%5 XY ¥"> 2"713,
when it is equally valid in a 7"77 as well? The X"2w" continues:

— DN NNN M) 1DON 1IYNIYNRD YT DIVN TINN MY VP NTON 29
and the reason why X7on 21 stated his 17 by a 5''119, even though a 71" also does not
require a '7 o1p» because his intent was to let us know that even if the pole was a
hundred n1»X high and it extends above the mx>n» of the > he is still 271 -

— WP 1Y AMY PHYD MYIT DIVN

Because a °''711 extends up to the sky. It was not the intent, however, of X701 21 to tell us
that he is 2’11 even if there was no "7 011, for according to X701 27 this applies always in a "1

4 See "1 2 nwh R"wAan LP"waan ,a"nn 00w mooin for their discussion as to what the X"awn meant. See
‘Appendix’.
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7", The concept of ¥°p1% 7v 791w, however, applies only to a *"77 and this is what X701 2

taught us.
=915 93999 NY N1by X915 9717193 991 9N 33 VP TINN MY ININR VPIT TN

and since X701 21 used the expression %''719, which he had to, in order to teach us that
ypah 7y 79w >"0 the X713 continued to use the same expression that X» p''>5''7772

3", even though, that in truth everyone agrees (according to X701 27), that even in a 1"71 we
do not require a '7 2PA.

Now that the &"2w" has stated that everyone agrees that a '7 2p» is not required according to 29
X70M, a question arises why does the Xn»92 mention X 95 11, since the whole idea of 121 >7w is
to change the mwn status of the 711, why is the size of the 711 relevant. The RX"aw" presently
addresses this issue.
— NTON 297 NN 151’:‘,75 AN 1Y YPINT NI
And according to the manner which »°ax later interprets this P12 according
to X791 29, who maintains, according to the X"aw", that a '7 0¥p» is never required -
=909 933 71 AN IPON NNT NINY DI 1T VPIT NN
The reason the Xn>72 mentions that it landed on a Xy %2 197, when seemingly
since we are discussing according to X70m 217, the size of the 11 is irrelevant,
because even if the 7 would be wide four 2150, there would be the same
nmbrm, whether we say 17p°y 702 1911 *7W, to consider the 711 a °"717, or not, so why mention the
size of the 11?7
— 79 AYYNRY DIYN NINY DI VPIT ONIAN )2 PYNY 1229 9N
The X''2w= answers that the reason that the Xn°>12 mentions that the 17 was a
N2 because in a case where the 17 was higher than ten 2’190 from the ground, then
the size of the 1°1 is relevant, for in such a case -
— PHNN DIYPI2 O7) ¥y959N 1329 5909 M1 NIV NN MY NN 77 aN9 »HN INY
If the 11 was wide four 2°79v it would be considered a "'/, even though kid
goats pass underneath it, and the 3339 would not have said that he is =5, since it
is ten 0°19v high and four by four 2m9v in area, which constitutes a *"77 as mdoIn will soon
explain. Therefore in such a case, where the 17 is a >"717, if he threw from a 7" onto a °"731 he is
21 according to the 1127 as well, without the need to apply the principle of 121 >7w. That is the
reason why the Xn>12 mentions the size of the 11 that it is a X1 23, so according to the 1327,
who do not maintain 72, it will never be a >"717 and therefore he will always be Mu>.
mooIN continues to explain, if it is merely a 77 which is » M23 from the ground and "7 2m", why is
it considered a °"77, since there are no Mx¥°rn. There are many authorities who maintain that a

15 X
16 This is the corrected reading, not 'PX X', see gloss.
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*"711 must have walls that extend downwards (from a height of at least ten 2’19v) to within three
1Y from the ground, so that kid goats will not be able to pass underneath the wall and thus
invalidate the 7x°r», and consequently the *"77. In our case of the 171, there are practically no
walls at all, so how can we say that the 77 is a "7, even if it is "7 2m™ " M23. The X"2w7 explains
that nevertheless it may be considered a > -

— (N,NP 97 )0PY) 17‘.7‘11?11: N9 %2491 Y09 293 Y920 ON
If the 1127 of our Xn>72 will agree with 77737 '3 50 529, who says in P97 P13,
that there is a concept of Xnx i nnR 73; if we have a platform which is "7 2m71 ™ M323, and there
are no walls below it, like our 1°1, nevertheless the top of the platform is considered a valid "7,
because ‘we draw down the (imaginary) walls’ from the top of the platform to the floor beneath
it and it is as if the platform has valid mx>r» below it.

The X"2w1 explains that the reason why the X072 mentioned the size of the 1, for if it hadn’t
mentioned its size, we would have assumed that the 7127 hold that he is always M regardless of
its size even if it were " M2x "7 2M7, which may be misleading. For if our 1127 agree to the qvw
of 77 "2 °01° °21 who maintains XNX°12 N°OX 713, this would render this 1°7 a *"717, and therefore
the 1327 would also agree that he is 2, because he was >"77% 1" P, Therefore the ®n»92
states a X)W 93 11, for then the 13127 maintain that he is always 5.

mooIn presents a dissenting opinion:

— 1Y VPI K297 XM DIVNT YNIVUNT PNX 139299 NI IPN)
The >''1 does not agree with the s'X"2w" explanation that the Xn»92 states 75 1
X17w, in order that we should not be mistaken as to the opinion of the 7127, for the
simple reading of the text indicates that w"> 1°7 was mentioned to appraise us of

the novelty of s'9239 position, (that even though it landed on a w"> 11, nevertheless he is 2n).
However according to the X"2w", there is no novelty in being 217 on a "2 1°1, because according
to X701 27 a "7 01p7 is not required.

= YA9N ANIA 299907 TNYT RPDD NN RNND 1T VIPI NN INT PHN 13929 9IINY

Therefore the >''1 says that the reason why the Xn»12 mentioned a w"> ™1, was for the
purpose of clarifying s"27 opinion, and not the 1327, for if the Xn»72 would have just said
17, without clarifying what size it was we may have thought that it was wide
four oorov -
— 9P 912 199 Y1V DIVN IND Y297 NNYLY
And the reason why %21 says that he is 2m, is not because we say =na 1231 STw
P -
— ¥v15 5293 Y01 5293 9207 NIAN 79N NN

17 It is also cited here on X,
8
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Rather we would have thought that "27 agrees with the aforementioned 3'9
5''%3, who rules that -

- YUYV YUNIY 97193 NP \VIT
if one sticks a pole in the ground of a 2''71 and on top of the pole there was a

basket, and someone threw an object from the 7"717 into the basket he is 21, because we say
XN N°nX 713, and the basket is a >"717, therefore he is 2°11. I would think that 27 agrees with
this and therefore that is the reason why 27 is 217, when 7 3"y 11 271, and 1 would never know
that *37 maintains '*1p*y 902 1011 W -

— 9915199 TV DIYN 297 NIYOT )IWNIYNRD NINY Y5 VPI IND
Therefore the xn>>2 specifies '@ ©2' to inform us that the reason why %21 is

217, is because of 191 1911 57w, and it is not related to the ruling of >"32 "7, since itis a 7
w'"o.

This concludes the 7vw of Mo, who maintains that the purpose of 17 2n2 191 W is to
change the mw status of the 711 from a 7" to a *"717 and to be 2>nn for °"77% 2"7n P

mooIN cites ¥"wB:
— 1975 N2 199 1Y DIYN °IND YIDY YN
However >''w9 who explains our X773 here, that 1925y 902 911 572 accomplishes -
— 74 0PN 22X YY £©°290 Y NN MM
That it is considered as if (the object which landed on the q11) it landed on a 2p»
2''77192 '7, and he is 271 for 7"72 MR T POT -
— NTY 27199 79 N9 d¥a NY /M NVNY INRT NTIYNT VAN IN
It is impossible to substantiate s""w" position; for if the branch was within three
omov of the 71"77 YPIP, no one requires that it have a ' 2%, the 1131 would also
agree that he is 211, for there would be no need for 1911 7w
— D290 MV NN XY )N NYYN)
And if the branch was above three 1" yp3pn oo, it would not be a 2''79, but

rather a MWD DWP» since it is a XYW 9 r1*!, and there would be no 2vn of 7"772 PINK 7 1. The

only way to resolve this problem, N1901n continues —
2: 4190 182 NVY NINY NYP2Ta NI XY ON

'8 See “Thinking it over # 5.
' We may have assumed that if the 17 was less than '7 (and in a 1"77) he would be 7119 even according to *27, for he
does not maintains 131191 *7w.
20w 1"
! Or perhaps a n*»n7, if we would assume that since "2 *Tw accords the 71 the status of a '7 DWpn, it may be
considered as if it has a '7 0yp» for real and therefore it would be a n*2n3. See ‘Thinking it over’ # 3.
2 See “Thinking it over # 6.
9
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unless we say that the object thrown was a fat and sticky fig, and it stuck to the
side of the branch, not on top of the branch, but on the side, so the bottom of the fig is not on
the branch, but rather it hovers over the 1"117, therefore even if the branch is a 715 2P (or since
we consider the branch a '7 0pn, because of "5 *7w, the top of the branch is a n°on1d),
nevertheless the side of the branch, where the fig is attached and hovering over the 1"717, is
considered part of the 231".‘:1, and therefore he is 2»11 for 7"772 R"7 P, It is self-understood that
this is a very unusual case and it is unlikely that this is what the X773 meant.

APPENDIX"*

The X"2w1 says that the reason *2X does not interpret the case of w"> 1 3"y 111 P77, in a
7", 1s because even in a 1"717, everyone agrees that a '7 2p» is not required according to
X701 21. The commentaries ask, that nevertheless there still can be a np12nn in the case of
a tree which is entirely in a 1"717, and the np19m» is whether we say 121 >72 to consider the
branch, which would be a 715 03p» to be a °"7.

The X"2w1 may be understood in the following manner: The reason why we want to
establish this ¥n™72 in a 7"77 is because that then we would gain that 121 >72 would be
used to accord the branch the status of a '7T 2)pn (rather than to change n1w9). The
advantage of this is because the simple reading of the &n»92, which says @''s 71 1"y i,
indicates that the reason that the 02 are 7019, is because there is no "7 23Pn. We would
also gain that the situation is less complicated; the entire tree is in one Mw.

If we were to assume that a 17"77 requires a '7 23Pn, then we would use the s'R"2w"
scenario, where the trunk was below '3, etc. and the np1>n» would be with the tree entirely
in the 71"77. Now however that the X"2w1 says that according to X701 27 a 71"71 does not
require a '7T 2171, what would be gained if we would say that the tree is completely in the
7"77. We cannot say 121 7@ for a '7 2Ipn, because a 7"77 does not require a "7 DIPA.
Therefore we have to say 121 *7¥ to accord the branch the status of another mwA, that
instead of being a MWD 0pn (or a N°on12) it will be a 1"70, which is the same as when
7"77219I1 772 1P, So nothing has been gained. We cannot say, that we would gain at
least that the tree is in one MWY", so it is more usual than in two different M"w7, because
the case which the X"2wA suggests to us in the 7"777, that the trunk was W2 nun? or exactly
' and the branch is elsewhere, may even be more complicated, than a regular tree in two
nmwA. Therefore, even though it may be possible to establish the Xn*92 in a 2"77,
however there would be no advantage over 71"772 19111 >"772 1P,

2 See the 121 19IPT 772 (R,T) X3, see also nvY 7"7 ow moown. The npiban between 1327 27 is that *27 maintains 7w
7Py 702 111 and therefore there is a "7 O1pPn, however the 1127 disagree and since there is no '7 2P he is 75 even
though that it is ¥ppi1 °10 1IX17 (see "1 NYW in the MdOIN there).
* See footnote # 14.
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The question may be asked since the term w"> 17 is irrelevant whether we say it is
completely in the 7"77 or 7"772 1IN "772 P (since a "7 2PN 1s never required), why
choose the latter over the former? It seems that the X"2w7 addresses this issue later in this
Moo, when he says that in the case of two N9, where the 2vr is for >"77% 2"79% P,
then it is important to say X 95 11, for otherwise, if it would be a '7 11, then according
to the a°nom, he would also be 2°°11 for a >"77% "7 PIT. However® if it is in one mw™,
and the 21’17 is for 71"772 NMMX "7 2777, then according to the 2°25m, he will never be 21 for

2091993 x"7 P71, no matter what the size of the 1°1. It will never be a 7"77, because any

object in the '\ 75vn? 9"77 is either a N°9n1> or a MWD 2Pn, so why mention a w"d 1.
Therefore 2R chose the case of two N1"MWA, because it satisfies (somewhat) the need for a
XITW 95 1.

SUMMARY

According to >"wA, the Xn»72 of "> 171 A"Y 1 pAT, according to 2R, is discussing a
case where he threw the object 7"772 nXk 7, and the argument between 0°22M 327
is whether we say 12172 to accord the w"> 1°1 the status of a "7 21Pn

According to Mo, the argument is whether we say 121 >7® to confer upon the 11
"2, which is in the 1"717, the status of a "7 2P in a >"717, and he will be 211 for P17
M'% "N,

In s""axX original statement the principle of 121 *7w, had to accomplish only that the
branch has the status of a >"717, but not that it be a "7 2p», because X701 27 is of the
opinion that a "7 017 is not required.

There is an argument between the X"2awm MooNT *2va, whether X707 21 maintains
that a "7 2P is not required only in a >"777, however in a 7", even X701 27 would
agree that a "7 0pn is required, or the 7V Y of the X"2wA, that according to X701 27 a
'7 0P~ is never required, neither in a >"777 nor in a 71"7".

Some of the concepts we learn from this N1voIN:

The 7v°w of 771> 7"2 01 "29, that we say XnX°rn p°oX 7 that if we have a platform
suspended in the 7"77 which is "7 2mM™ ™ 723, and there are no walls below it,
nevertheless the top of the platform is considered a valid °"717, because ‘we draw
down the (imaginary) walls’ from the top of the platform to the floor beneath it and
it is as if the platform has valid nx°nn below it.

* This conclusion is not part of the s'X"2w" statement.
?6 Even though he may be 2n for >"717 1" P17, but the npY>An with 27 concerns 1"772 X" P
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Those that argue with >"72 >"9 maintain that if the 7%°’nn does not reach downward
to within three o°rov of 7"77 nN°yppP, and therefore NN o°yp12 073, it 1s not a
X,

That any (fixed) object in a 2"717, that is "W 777917 and below 2°ndv 7"V is either a
v opn if it is less than "7 5v '7, or a n°on2 if itis "7 ¥ '7 or larger.

Any object that is ' 7vn? is a 7"7717 no matter its area, because 7 N30 RYIND.
That if an object rests in a 71"737, in a manner that it is not on top of its resting place
but rather attached to its side and hovering over the 1"77, below ten 2°1dY, it is
considered as if it landed in the 7"77, even though the top of its resting place may
be a n°7»75 (or a MWD DPN).

A" s ¥pa% 7Y 91y, above and beyond its Mg

THINKING IT OVER

1. mo0In explained that we cannot have the np2nn when the tree is entirely in the
3", because if the branch is '7 arn, it would be a n*»»7> and less than '7 it would
be a Mo mpm”. a) How can we think that it is "7 2177, when we are talking about a
X 93 112°° b) Why shouldn’t the branch be considered a 7"711 because of v
;7%

2. When mpoin suggests that the 072 could be discussing a case when the tree is
entirely in the 7"717, there is difference between N19010 and the X"2wA as to what 7w
121 will accomplish. What is the difference and how do we account for it?

3. When we say that 191 >7w gives the branch the status of a '7 2p»,”° does it mean
that it is actually a "7 @n or that for 7mi7 (1 77°pPY) purposes we consider it as if it is
a "7 0ypn? How can this help us perhaps in understanding question # 1? Perhaps it
may also answer N1 question on *"wA.”!

4. Why is it (according to '01n7 DLW [not X"aw"7 nvw]) that we say 1911 7w to
consider it a *"7 but not to consider it a 7"71?!>

7 See footnote # 8.
% See footnote # 11.
¥ See footnote # 12.
30 See footnote # 6.
3! See footnote # 21.
32 See (footnote # 8 and) 2w 7"7 P27 NYW and 7AAT K.
12

TosfosInEnglish.com



12°K2 71"7 '010 2,7 NAw .7"02

5. The "1 says™ that we mention X% 95 f so we should not be mistaken that
perhaps °27 agrees to °"12 >"7 that Xn¥°nn PoX 714 and therefore he is 2>1. If that
would be the reason why not be more specific, why say a 11?7

6. MOOIN states the >"wd is untenable unless we are discussing a 1V 7PNPY 177°27
7117 7¥2.%* Why cannot we say (as the X"2w1 suggests) that the p°y was ¥ o> (or
1LY 0°5No7 2227 'Y Max)?

3 See footnote # 18.
3* See footnote # 22.
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